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Quiz 9,10,11 Practice Test Chemistry Honors
Multiple Choice
Identify the letter of the choice that best completes the statement or answers the question.
1. Amassof 0.650 grams of calcium carbonate is added to 50.0 mL of 0.275 M HCI. If the COAg) gas is
collected in a 1.00 L flask at 25°C, what is the pressure of CO,(g) in the flask?
CaCOs(s) + 2H"(aq) > Ca’*(ag) + HyO(!) + CO(g)
a. 0.0129 atm
b.  0.0583 atm
c. 0.159 atm
d. 0314 atm
e. 159atm
2. Atagiven temperature, molecules of different gases
a. have the same average kinetic energy of translational motion.
b. have the same average velocity.
c. have the same diameter.
d. have the same density.
e. have identical masses.
3. Theaverage kinetic energy of a gas molecule is
a. directly proportional to its average speed.
b. directly proportional to the square of its mass.
c. directly proportional to the square of its average speed.
d. inversely proportional to its average speed.
e. inversely proportional to the square of its mass.
4. Athigh pressures, how does the volume of a real gas compare with the volume of an ideal gas under the same
conditions?
a. Itis much greater. c. There is no difference.
b. TItis much less. d. It depends on the type of gas.
5. Ifoxygen is removed from a sample of air as iron rusts, what happens to the partial pressure of oxygen in the
air?
a. Itincreases. c. Itdecreases.
b. It stays the same. d.  The change cannot be determined.
6. Which of the following gases will effuse the most rapidly?
a. bromine c. ammonia
b. chlorine d. hydrogen
_ 7. Inthereaction 2CO(g) + O,(g) — 2CO,(g), what is the ratio of moles of oxygen used to moles of CO,
produced?
a. 1:1 c. 1:2

b. 2:1 d. 22
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8. Calculate the number of moles of Al, O that are produced when 0.60 mol of Fe is produced in the following

reaction.

2Al(s) + 3FeO(s) — 3Fe(s) + AL, O;(s)

a.  0.20 mol c.  0.60 mol
b. 0.40 mol d.  0.90 mol

9. How many moles of H,PO, are produced when 71.0 g P,O,, reacts completely to form H,PO,?

P,0,,(s)+6H,0()) = 4H,PO,(aq)
a.  0.063 5 mol c.  4.00 mol
b.  1.00 mol d.  16.0 mol

10. How many liters of NH, are needed to react completely with 30.0 L of NO (at STP)?
4NH,(g) + 6NO(g) = 5N, (g) + 6H,0(g)
a. 50L c. 75L
b. 20.0L d. 1200L

11. When 0.1 mol of calcium reacts with 880 g of water, 2.24. L of hydrogen gas form (at STP). How would the
amount of hydrogen produced change if the volume of water was decreased to 440 mL (440 g)?
a.  Only one half the volume of hydrogen would be produced.
b.  The volume of hydrogen produced would be the same.
c. The volume of hydrogen produced would double.
d.  No hydrogen would be produced.

12. Identify the limiting reagent and the volume of CO, formed when 11 L CS, reacts with 18 L O, to produce
CO, gas and SO, gas at STP.

CS,(8) +30,(g) > CO,(g) +250,(g)

a. CS,;55LCO, c. Cs,;11LCO,
b. 0,;6.0LCO, d. 0,;27LCO,
_13. The molar mass of a certain gas is 49 g. What is the density of the gas in g/L at STP?
a. 3.6x107" g/L c. 22¢gL
b. 0.46 g/L d. 71¢g/L





